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SURVEYING

Fruiia a2 : 39 (3R 3 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A () FA-FA AT AT HE |

Note : There are THREE sections in the paper A, B and C.

(ii) QT CH FIT GG F G 10 917 & IR G | 9% YT Qb 37 BT 8 T
G 10 77 FGAT FFR F T F 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT & & 8 ¥ 7 @ 55T 6 5791 & IH AT | T F97 3 37 FT 2 TT
F7HT 5 ¢TIET / 50 Vgl 4 IR AT |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QAT &6 3o § 8 5T 4 3971 & IR AT | T 597 8 3 HT 8 0T
577 15 187 / 150 V1G5 3 &g |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) YA QFH & G G5 ! FHER T G §F BT |

Solve all the questions of a section consecutively together.
(vi) @l aTSIsT 7 3= g7 % IR 7 37 srgare & A= 8

Only English version is valid in case of difference in both the languages.

YA -
SECTION - A
1 () wetemr e geeht <6 ashar 1 Arar € S 2, SEer @
(a) |HaE Hae (b) =I5 HE&
(c) Y- HAHT (d) TR g
The survey in which the curvature of the earth is taken into account is called
(a) Plane survey (b) Geodetic survey
(¢) Cadastral survey (d) Citysurvey
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(vii)

(20f4)
S 3 75 2 e g ) e S e e 2
(a) STERTE (b) i@
(c) Jie @ (d) 3w adf
The longest chain line passing through the center of area is known as
(a) Base line (b) Check line
() Tieline (d) All of the above
e s 3 Fheat a7
(a 16 (b) 33
(©)""66 (d 100
Revenue chain consists of links.
(@ 16 (b) .. 33
(c) 66 (d 100
e YaT 1 =qUTy oA S 30° W B | $6ehT quiea fesha g
(). .30° (b) 150°
() 340° (d) 210°
The quadrantal bearing of line is S 30° W. Its whole circle bearing is
@ .30° (b) 150°
(c) 340° (d) 210°
Ffe ferel T w1 uve &A™ 210° B A 35T SmfesHam g
(@) 302 (b) 40°
(c) 45° @d 50°
If back bearing of a line is 210° its forebearing will be
(a).1.:30° (b) 40°
(c) 45° (d) 50°
T ST ATl LM 1 751 YT eerdl &
() ST (b) TRETERARA
(c) WEATTARBA (d) IHwad
Staff reading over a station whose elevation is known is called
(a) Fore sight (b) Back sight
(¢) Intermediate sight (d) All of the above
Toreht foreg 1 wmTia ac (STR.TH. ) Toreh Tmoe Swehi S=aT @ 7
(a) Yot 6l HE (b) wIed EHgA
(© THFFR (d) 3 wf
The Reduced Level (RL) of a point is the elevation with reference to
(a) The surface of earth (b) Mean sea level

(c) Centre of the earth (d) All of the above
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(viii) Teh ST Sl &HAT <! TUMT 6t STt &

(a)  ifcreh ol gran (b) SHEAE g
(c) T TR g (d) 37re aft
The capacity of reservoir is determined by
(a) Physical map (b) Compass
(¢) Contour map (d) All of the above
(ix) T Geeor § ehgur fopa Sirar &
(a) e 9 (b) WTEA Bl
(c) Ueficed d) B
In plane table surveying the centering is done with
(a) Spirit level (b) Plumbing fork
(¢) Alidad (d) Plumb-bob
(x) EHAA 9 I TCHETIH FermaT ST dehell 3
(a) Qi HEHY (b) UTETEAIHR A
(c) ITRBGTH (d) 3T Tt
Orientation of a plane table can be done by
(a) Trough compass (b) Back slighting
(c) Resection method (d) All of the above (1x10)
o —<ff
SECTION - B
2. e <t ufurer ford | wteor 3 e W wa A T |
Define surveying. Write the objects of surveying in brief. (1+2)
3. e W @ 3 T EEea E 7
What do you mean by chain line ? 3)
4, ufee feseam sl qem gt fesa womet! § SRR o7 Sl |
Differentiate between whole circle bearing and quadrantal bearing system. 3)

5. OREERes qoeTT el s H e Srar g 7

Where reciprocal levelling is used ? 3)
6. ¥ T gl 31 H =R T HINH |
Differentiate between line of sight and axis of telescope. 3)

7. HHE AU HI I HIEE R ?
What is the importance of contour interval ? 3
P.T.O.
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8.

10.

11

12.

13.

14.

15,

frefeafaa ga= 6 TREr s975T

Draw the contour of the following :

(i) =

Valley
(i) TAH TR

Uniform slope
(iii) dreTs

Pond 3
TTE HASU § HTH T FTet ITH o A ARk |
Write name of the instruments used in plane table surveying. k)

Yo —
SECTION-C

faftr TmeeTt feat =) il Tderor 3 Sm TagTET |
Explain the various compensating errors in chain surveying. 8)

ST S T A <l e 3 9 TRt 8 ferar R 2 o Rl wErdn © gaemE |

With the help of a sketch, explain how will you continue the chaining work passing
obstacle of a river ? 3

T SAHYT AT E 7 TEHT A BRU B 7 SIF SMHIT P B H AU -
wragTRT W = ?

What is local attraction ? What are its causes ? What precautions to be taken to avoid
local attraction ? 3

=i e v v S § st T HINR |

Differentiate between prismatic compass and surveyor compass. ®)

Teh et g1 fTfea T wTedies fore T | e wem fomg o1 T et 166.30 dier 3
3= forgatl % v oo 91a L | e H [Rafd g, s e e wrgHis & w1
TEA TS R | SRR it ft |

0.875, 1.235,2.310, 1.385, 2.930, 3.125, 4.125, 0.120, 1.875, 2.030, 3.765 e

The following staff reading were taken by a level. If the R.L. of first point is 166.30
meter, then find out the RL of other points. The position of level was changed after
second, fourth and eighth readings. Also apply the arithmetic check.

0.875, 1.235,2.310, 1.385, 2.930, 3.125, 4.125, 0.120, 1.875, 2.030, 3.765 meters. ®)

I T Tshar o fafir =won =) ferfled |

State the various steps involved in plane table surveying. ®)



